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‘ ~ PUBLIC SCHOOL
; Sector-21, Noida, G.B. Nagar

WINTER HOLIDAY HOMEWORK (2024-25)

CLASS IX

General Instructions:
a) The date of submission of the assignment are as follows:

1. Science & Sanskrit 7th Jan 2025
2. Social Science & English 8th Jan 2025
3. Hindi, IT/AI& Maths 9th Jan 2025

b) The assignment is to be attempted in class notebooks.
c) Neatness and timely submission of assignments carries extra marks.

SUBJECT: ENGLISH

Topics - Factual Passage ,Integrated Grammar, L-The Beggar (Moments), Kathmandu
(Beehive),Vocabulary Enhancement

Q1. Read the passage carefully and answer the questions that follow:

The vipers are a family of poisonous snakes. In fact some of the deadliest snakes known to us
belong to this family. Vipers mainly live in wet places, rain forests and small caves inside
mountains.

Rattlesnake, water moccasin and copperhead are examples of some dangerous vipers. All of
these snakes are found in the United States of America. The bushmaster and the fer-de-lance
are found in South America and the puff-adder is found in Africa. Vipers have triangular heads,
short tails and thick bodies. They have fangs in their upper jaws to inject poison into the body
of their victim. When snakes bite, the muscles around their poison sacs contract causing the
poison to squirt out through their hollow fangs. The sacs are located behind their eyes. One bite
will inject about half a teaspoon of poison into the victim’s body. Vipers mainly eat small
mammals, amphibians, nestlings and lizards. Their venom contains more than a dozen toxic
compounds. Many members of the viper family are small and their bite is not fatal. Some
studies have shown that vipers can survive for up to one year without eating. And according to
some folklore, the touch of the viper snake’s tongue has the power to heal a person.




Vipers tend to have a lot of babies. They are classified as ovoviviparous. That means the female
snakes produce eggs but do not lay them. Instead they hatch the eggs inside their body and give
birth to live young. At a time, the female may give birth to up to 10 baby snakes. Baby snakes
are completely independent of their mother when they are born and they leave the area of their
birth within days of hatching. There are mainly two types of vipers — the pit vipers and the true
vipers. The pit vipers leave in Asia and the Americas. They have a small hollow in the side of
their head just below the eye. This small pit has a special nerve or a temperature sensing
organism. This nerve helps the viper to find its warm-blooded prey. True vipers don’t have this
nerve and hence they have to rely on their sense of smell to find their prey. Vipers do not
normally attack unless there are disturbed or hungry. Still it makes sense to stay away from
them.

A. Complete the following statements based on your reading of the above passage
1. Vipers are classified as ovoviviparous because __

2.Pit vipers are so called because ___

3.How do snakes inject venom into their victim’s body?

4.The vipers found in South America are___

B.Find words or phrases from the passage which mean the same as the following:-
1. Young birds- ___

2. Deadly - _

3. Stories and knowledge passed down through oral communication

Q2. The following passage has not been edited. There is one error in each line. Write the
incorrect word and the correction in your answer sheet

Error Correction

Often these days we hear and speak of the conquered (a)

in nature, 'the taming of a river', 'the war against insects'  (b)

and so on. Often these phrases being used without consciously (c)

attaching any value to them, but those have an (d)

underlying attitude of hostile towards Nature and Nature's (e)

creatures, a viewpoint which seeming to assume  (f)

Nature as an enemy that needs to being vanquished. (g)

Alternatively, Nature is seen merely as the 'resource' to be (h)

'exploited'




Q3. Choose the most appropriate option from the ones given below to complete the
following passage:

Since the beginning of human existence, people (a) _over the world have expressed their

emotions and ideas (b) the medium of dance. The word 'folk' means people. Folk
dances express the moods and feelings of ( ¢) common people. Different regions
(d) India have their own dances. (e) dance is accompanied by music and
songs of the region to (f) it belongs. (g) recent times folk dances have
gained(h) popularity, partly because of films and television shows.

(a) (1) all (i1) whole (ii1) much  (iv) more

(b)(1) in (i)into  (iii) through (iv) of

(c)(i) the (ii)a  (iii) an (iv) some

(d) (i)at (ii) of  (iii) for (iv) from
(e) (i) Each (ii) all (iii) whole (iv) many

(f) (i) what  (ii) who (iii) whose (iv) which

(g) ()Of (ii) for  (iii) in (iv) until
(h) (i) great (ii)for  (iii)) much (iv) many

Q4. (a) What difference did the author note between the flute seller and the other
hawkers?

(b) How did Lushkoff become a notary?

Word —Bank

Make sentences of the following:

(1)Reading between the lines (i1) Breaking the ice

(ii1)All is well that ends well (iv) Hobson’s choice
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doara:- YHie Hare] | dF dcar foh HRSAMA| gaed, AR gEd | dF THAT AA
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der faar 3mefor: (i) & 9id 9o g 3ded | Id: a8 Fod
Bt (iv) A & g IR A T (v) guTfor
JqTde, ETTTH AR | Falel Il (vi) qfScar &: AR ufd 3merdary
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(F) 9T (@) o1 e
(1) 31T (&) geear
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SUBJECT: MATHEMATICS
TOPIC: CIRCLE

Section A (1 Mark only)

Multiple choice questions ¢

1.

In fig. AOB is a diameter of the circle and AC = BC the zCAB is equal to:
a) 30° c) 45°

b) 60° d) 90° A ®
In fig. AB and CD are two equal chords of a circle with centre O. OP and OQ are v
perpendiculars on chords AB and CD respectively. If ZPOQ = 150° then £APQ
is equal to

a) 30° c) 75°

b) 15° d) 60°

The radius of a circle is 13cm and the length of one of its chords is 10cm. The
distance of the chord from the centre is

a) 11.5cm c) 12cm

b) 69 cm d) 23 cm

In fig. ifZABC= 20°, thenAQOC is equal to

32 A

c

If AB = 12cm, BC=16cm and AB is perpendicular to BC, then the radius of the circle
passing through the point A, B and C is:

a) 6cm b) 8cm c)10 cm d) 12 cm

AD is a diameter of a circle and AB is a chord. If AD =34 cm, AB = 30 cm the
distance of AB from the centre of the circle is:

a) 17cm b) 15cm c) 4cm d)8cm

Answer the following questions

7.

Find the missing variables in the given figures:




N

11.

Section B (2 Marks)
A chord of a circle is equal to the radius of the circle. Find the angle subtended by the
chord at a point on the minor arc and at a point on the major arc.
In the following fig.1 Find the value of zBCN.

fig.2

In the given fig.2 Find the value of reflex angle POR.
In the given fig.3, O is center of the circle with radius 5 cm, OP.LCD, OQLAB, AB ||
CD, AB =6 cm and CD = 8 cm. Determine PQ.

. In given fig.4 ABCD is a cyclic quadrilateral, chords AB and CD are produced to meet

E, show that EA x EB = EC x ED.

Fig.4

Section C (3 Marks)

In the given fig.5 determine a, b & ¢ if zBCD = 43° ~BAF = 62°.
In the fig.6 P is the center prove thatzXPZ= 2 ( £XZP +2YXZ)

In given fig.7, O is center of circle andzDAB = 50°, calculate the value ofx and y.
C

A i F
Fig.5 N fig.6

In the given figure A, B, C and D, E, F are two sets of collinear points. Prove that
AD||CF.

B

D




12.

13.

14.

15.

Section D (4 Marks)

During a practical activity in math lab students were using circular geo board. The
angle subtended by an arc at the center is (2a+50°). Ram calculated2BAC as (a+25°)
a) Is he finding correct? Justify it.

b) Find zBAC if a=30°

c) What will be the value of 2BOC for a = 15%?

d) If a=30° then find the measure of Reflex2xBOC

B
AB and CD are two parallel chords of a circle which are on opposite sides of the
center O such that AB = 10cm, CD = 24cm and the distance between AB and CD is
17 cm. Find the radius of the circle. (fig.8)

In fig.9, O is the center of the circle, zZBCO = 30° Find x and y.

In fig.10, O is the center of the circle, BD = OD and CD L AB, Find zCAB.
A




SUBJECT: BIOLOGY
TOPIC: ANIMAL HUSBANDRY

HIGHER ORDER THINKING SKILLS (HOTS) - Multiple Choice Questions (MCQs)

1. Which of the following is not a part of animal husbandry?
a) Breeding of livestock
b) Growing crops
c) Dairy farming
d) Poultry farming
2. Cross-breeding is done in animal husbandry to:
a) Improve disease resistance
b) Reduce milk production
c) Lower body weight of animals
d) Increase dependency on imported breeds
3. The method of rearing fish commercially in tanks and ponds is called:
a) Pisciculture
b) Apiculture
c) Sericulture
d) Horticulture
4. Which one of the following animals is primarily used for wool production?
a) Cow
b) Goat
c) Sheep
d) Buffalo
5. Artificial insemination in cattle is preferred because:
a) It is expensive
b) It reduces the chance of diseases
c) It does not improve breeds
d) It leads to less milk production

SHORT ANSWER QUESTIONS (3 Marks Each)

Explain two ways in which animal husbandry contributes to the economy of a country.
How does cross-breeding help in improving livestock? Provide an example.
Differentiate between pisciculture and apiculture with examples.

Why is proper shelter important in animal husbandry?

Write a short note on the role of cooperatives in dairy farming.

orwdPE




LONG ANSWER QUESTIONS (5 Marks Each)

1. Describe the management practices necessary for dairy farming. Explain how these
practices ensure better milk production.

2. Discuss the process and importance of poultry farming. Highlight the key points to be
kept in mind for its successful management.

3. What is sericulture? Explain its economic importance in rural areas of India.

4. Explain the different steps involved in the production of high-yielding breeds of cattle.
How do these methods help in meeting human needs?

5. Suggest and explain ways to improve animal husbandry practices to meet the increasing
demand for food.

CRITICAL THINKING CHALLENGE

Case Study:

A farmer in a rural area has limited resources and wants to start animal husbandry as a source of
livelihood. Considering the local climate and availability of fodder, the farmer has the option of
rearing either goats or poultry.

e Analyze the situation and suggest which option would be more suitable.
o Justify your answer with relevant points on cost, maintenance, and profitability.




SUBJECT: CHEMISTRY

TOPICS: ATOMS AND MOLECULES: LAWS OF CHEMICAL COMBINATION, ATOM, SYMBOLS,
ATOMIC MASS, MOLECULE (ELEMENTS & COMPOUNDS), IONS, FORMULA WRITING,
MOLECULAR MASS, FORMULA UNIT MASS.

STRUCTURE OF THE ATOM: CHARGED PARTICLES IN MATTER- ELECTRONS, PROTONS AND
NEUTRONS,STRUCTURE OF AN ATOMS ,ELECTRONS DISTRIBUTION IN ORBITS,VALENCY, ATOMIC
NUMBER AND MASS NUMBER,ISOTOPES, ISOBARS

1.

Who proposed the law of constant proportions?
a) John Dalton

b) Joseph Proust

¢) Ernest Rutherford

d) J.J. Thomson

The smallest particle of an element that can take part in a chemical reaction is:
a) Molecule

b) Atom

c) lon

d) Compound

The formula unit mass of NaCl is:
a) 23 u

b) 35.5u

c)58.5u

d)59.5u

Hydrogen and oxygen combine to form water in the ratio:
a) 2:1 by weight

b) 1:8 by weight

c) 1:2 by weight

d) 2:16 by weight

What is the valency of oxygen in H:O?
a)l
b) 2
c)3
d) 4

Identify the diatomic molecule from the following:
a) 02

b) NaCl

C) CO:

d) NH;

Which of the following statements about atoms is incorrect?
a) Atoms are indivisible.
b) Atoms of the same element have identical masses.




10.

11.

12.

13.

14.

15.

c) Atoms combine in fixed whole-number ratios to form compounds.
d) Atoms can be created and destroyed during chemical reactions.

What is the correct formula for calcium hydroxide?
a) Ca(OH):

b) CaH:

c¢) Ca2OH

d) Ca(OH)

The ratio by mass of hydrogen and oxygen in water is:
a) 2:1
b) 1:8
c) 8:1
d) 1:2

Which of the following is not a triatomic molecule?
a) CO:

b) Os

C) H-0O

d) O:

Chapter 4: Structure of the Atom

Who discovered the proton?
a) J.J. Thomson

b) E. Goldstein

¢) Ernest Rutherford

d) James Chadwick

The negatively charged particles in an atom are called:
a) Neutrons

b) Protons

c) Electrons

d) lons

Which of the following is true about Rutherford’s atomic model?
a) The nucleus is positively charged.

b) Electrons revolve around the nucleus in circular orbits.

¢) Most of the atom is empty space.

d) All of the above

The charge of a neutron is:
a) Positive

b) Negative

c¢) Neutral

d) Double positive

The number of protons in an atom determines its:
a) Mass number




16.

17.

18.

19.

20.

21.

22.

23.

b) Atomic number
c) Valency
d) Neutron number

Bohr’s atomic model suggests that:

a) Electrons move randomly around the nucleus.
b) Electrons revolve in fixed energy levels.

c) The nucleus contains only protons.

d) Electrons and protons are present in the nucleus.

The nucleus of an atom contains:
a) Protons and electrons

b) Neutrons and electrons

c) Protons and neutrons

d) Protons, neutrons, and electrons

The first shell of an atom can accommodate a maximum of:
a) 2 electrons

b) 4 electrons

c) 8 electrons

d) 18 electrons

What is the atomic number of an element with 11 protons?
a) 11

b) 22

c)l

d) 10

Who discovered the neutron?
a) Rutherford

b) Bohr

c) Thomson

d) Chadwick

Which of the following represents a neutral atom?
a) Protons > Electrons

b) Protons = Electrons

c) Protons < Electrons

d) None of these

What is the maximum number of electrons that can be accommodated in the
second shell?

a) 2

b) 4

c)8

d) 16

In Rutherford's gold foil experiment, most alpha particles:
a) Passed through without deflection
b) Got deflected




24,

25.

¢) Bounced back
d) Were absorbed

The valency of an element depends on its:
a) Atomic number

b) Number of electrons in the outermost shell
¢) Mass number

d) Number of neutrons

The charge of a neutron is:
a) Positive

b) Negative

c) Neutral

d) Double positive

COMPETANCY BASED QUESTIONS

e Knowledge and Understanding

Q26.Explain how Rutherford's alpha particle scattering experiment led to the
discovery of the nucleus.

e Application Based

Q27.Using the Bohr model of the atom, calculate the number of electrons in the
all four orbit of an atom.

BOHR'S MODEL OF AN ATOM me

N shell
M shell

L shell

K shell

Positivel
charged

nucleus

e Critical Thinking

Q28. Compare the key differences between the Thomson model and the
Rutherford model of the atom. What limitations of the Thomson model were
addressed by Rutherford?
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e Problem-Solving

Q29.The atomic number of an element is 11. Write its electronic configuration
and how will you find its valency?




SUBJECT: PHYSICS ASSIGNMENT
TOPIC : SOUND

Q1. What is the difference between note and tone?

Q2. Full form of SONAR is:

Q3. When we change feeble sound to loud sound we increase its

Q4. Sound produced by a thunderstorm is heard 10 s after the lightning is seen. Calculate the
approximate distance of the thunder cloud. (Given speed of sound = 340 m/s.)

Q5. Draw a curve showing density or pressure variations with respect to distance for a disturbance
produced by sound. Mark the following

1) Amplitude of the wave
i) What is the frequency of the wave drawn by you.
iii)  compression and iv) rarefaction on this curve. Q6. What

is the wavelength in the given curve (in terms of A,B,C,D,E)

Q7. What is relation between time period and frequency?
Q8. Name the principle on which a stethoscope works. Draw a diagram only to explain its working.
Q0. For hearing the Ioudest ticking sound heard by the ear, find the angle r in the figure.

Q10. Which wave characteristics determine the loudness and pitch of sound?

Q11. Figure shows a loudspeaker cone oscillating to produce sound
waves:

Cone oscillatas to
pnochce sound waves

Loudspeaker
cone




Answer the following questions based on the above diagram
a) As the sound wave passes a point, it produces regions of higher and lower pressure.
State the names of these regions.
b) State the effect on the loudness and pitch of the sound from the loudspeaker when the
amplitude increases but the frequency of the sound stays the same.
c) State the effect on the loudness and pitch of the sound from the loudspeaker when the
amplitude stays the same but the frequency increases.

Q12. The speed of sound on a hotter day. Give reason for the statement.

Q13. A sound wave travels at a speed of 339 ms™. If its wavelength is 1.5 cm, what is the
frequency of the wave? Will it be audible?

Q14. A powerful sound signal sent from a ship is received again after 2.4 seconds. How deep
is the ocean bottom? (Speed of sound in water = 1,500 m/s)

Q15. (a) Represent graphically by two separate diagrams in each case
(1) Two sound waves having the same amplitude but different frequencies.

(it) Two sound waves having the same frequency but different amplitudes.
(iii) Two sound waves having different amplitudes and also different wave lengths.

(b) If velocity of sound in air is 340 m/s, calculate
(i) wavelength when frequency is 256 Hz.

(it) frequency when wavelength is 0.85 m




SUBJECT: HISTORY
TOPIC: RISE OF HITLER

Multiple Choice Questions

1.What was the term used by Nazis for deporting people to Gas Chambers?

A) Holocaust B) Evacuation C) Persecution D) Final Destination
2.Who bailed out Germany during the economicl&dsis in ?
A) USA B) USSR C) France D) Britain

3.Anti-democratic forces in Germany gained strength as a result of:

A) Defeat in the Second World War B) Price rise C) Harsh conditions of Treaty of Versailles D)
None of the above

4.Which nation was an ally of Germany during the First World War?

A) Austria B) England C) United States D) Russia
5.The USA intervened in the Second World War because

A) It wanted to occupy territories in Europe B) US base at Pearl Harbor had been
bombed

C) It had strong ties with Britain D) It was facing economic problems at
home

6. Hitler believed that at the top of the racial hierarchy were the:

A) Jews B) Aryans C) Europeans

D) Coloured people
7.The Treaty of Versailles:

A) Reduced the territory of Germany B) Increased the territory of Germany C) Made no territorial
changes

D) Was liberal towards the Germans

8.The book "Third Reich of Dreams' written by-
A) Charlotte Beradt B) Ernst Hammer C) Der Sturemer D) Elvira

Bauer
9.Hitler is best described as a

A) Democrat B) Monarch C) Dictator

D) Nationalist
10.Hitler's success included

A) the disappearance of unemployment. B) the rise of prosperity.

C) an increase in German prestige.
D) all the above.

11.Which of the following statement does not match the Nazi view on women?
A) Women are radically different from men

B) Women must become good mother and rear pure blooded ‘Aryan’ children
c) Women should be entitled equal rights to men




p) Women must produce more children

12.Which country was attacked by Germany in 1939 September?
A) France B) Poland C) England D) Russia

13.Nazi ideology believed that

A) Jews were responsible for all ills of Germany.
B) All races were equal

C) Political boundaries should be respected

D) All of the above

14.Read the statement carefully and choose the correct option.
Statementl: Nazi propaganda projected Hitler as someone who had arrive to deliver people from

their distréss.Statement : National Socialist German Workers' Party came to be known as the
Nazi Party.

Statement : Hitler set out to protect the structures of democratic rule.
A) All the statements are true.
B) All the statements are false.

C) Statementsand 2 are correct but statemeft is false. 3

D) Statementsand are false but statement 2 is true.

15.Youth organisations were made responsible for educating German youth in the spirit of National

Socialism. Ten year olds hadto join and at 14, all boys had to join where they learned to
worship war, glorify aggression and violence, condemn democracy, and hate Jews, communist and Gypsies.
A) Hitler Youth, Nazi party B) Jungvolk, Hitler Youth C) Hitler Youth,

Jungvolk D) Nazi Party, Hitler Youth




SUBJECT: ECONOMICS

TOPIC: STORY OF VILLAGE PALAMPUR; POVERTY AS A CHALLENGE; PEOPLE AS A
RESOURCE.

Paverty Ratio in Selected Indian States, (As per 2011 Census)
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Answer the following questions based on the above graph:

Q1 Identify the three states with Highest poverty ratio.

Q2 Identify the three states with Lowest poverty ratio.

Q3 Create a comparative analysis based on the two aspects mentioned above and explain the reasons behind the
regions with the highest and lowest poverty ratios.




CASE BASED STUDY:

Read the following passage carefully and answer the questions given below it. Certain words have been printed
in the bold to help you locate them while answering some of the questions.

Story of Sakal

There were two friends Vilas and Sakal living in the same village Semapur. Sakal was a twelve- year-old boy.
His mother Sheela looked after domestic chores. His father Buta Chaudhary worked in an agricultural field.
Sakal helped his mother with domestic chores. He also looked after his younger brother Jeetu and sister Seetu.
His uncle Shyam had passed the matriculation examination, but was sitting idle in the house as he had no job.
Buta and Sheela were eager to teach Sakal.

They forced him to join the village school which he soon joined. He started studying and completed his higher
secondary examination. His father persuaded him to continue his studies. He raised a loan for Sakal to study a
vocational course in computers. Sakal was meritorious and interested in studies from the beginning. With great
vigor and enthusiasm, he completed his course. After some time, he got a job in a private firm. He even
designed a new kind of software. This software helped him increase the sale of the firm. His boss acknowledged
his services and rewarded him with a promotion.

Story of Vilas

Vilas was an eleven-year-old boy residing in the same village where Sakal lived. Vilas’s father Mahesh was a
fisherman. His father passed away when he was only two years old. His mother Geeta sold fish to earn money
to feed the family. She bought fish from the landowner’s pond and sold it in the nearby mandi. She could earn
only Rs 150a day by selling fish. Vilas became a patient of arthritis. His mother could not afford to take him
to the doctor. He could not go to school either. He was not interested in studies. He helped his mother in
cooking and also looked after his younger brother Mohan. After some time, his mother fell sick and there was
no one to look after her. There was no one in the family to support them. Vilas, too, was forced to sell fish in
the same village. He, like his mother, earned only a meager income.

Q.1 Do you notice any difference between the two friends? What are those?

Q2. Explain in your words how the living conditions of Sakal and Vilas effected their future and their
Contribution to the economy.

Q.3 Two statements are given below as Assertion (A) and Reasoning (R). Read the statement and choose the
njost appropriate option.

Assertion (A): Buffer Stock is the stock of the foodgrains, namely wheat and rice, procured by the
government. Reasoning (R): Buffer Stock is maintained by the Life Corporation of India (FCI).

A) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

B) Both Assertion and Reason are true but Reason is NOT the correct explanation of Assertion.
C) Assertion is true but Reason is false.

D) Assertion is false but Reason is true.

E) Both Assertion and Reason are false




Q.4Two statements are given below as Assertion (A) and Reason (R). Read the statement and choose the moj

appropriate option.

Assertion (A): The quality of the population decides the growth rate of the
country. Reason (R): The quality of population depends upon the income of
people.

A) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

B) Both Assertion and Reason are true but Reason is NOT the correct explanation of Assertion.
C) Assertion is true but Reason is false.

D) Assertion is false but Reason is true.

E) Both Assertion and Reason are false

Q.5 Two statements are given below as Assertion (A) and Reason (R). Read the statement and choose the most
appropriate option:

Assertion (A): Contemporary perspectives on poverty are primarily grounded in economic criteria. Reason (R):
This includes elements like education, health, employment prospects, access to essential services, and the
phenomenon of social exclusion.

A) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

B) Both Assertion and Reason are true but Reason is NOT the correct explanation of Assertion.
C) Assertion is true but Reason is false.

D) Assertion is false but Reason is true.

E) Both Assertion and Reason are false

Q.6. Two statements are given below as Assertion (A) and Reasoning (R). Read the statement and choose the mojp

appropriate option.
Assertion (A): Food security means availability, accessibility and affordability of food to all people at
all times. Reasoning (R): Food security also depends on the Public Distribution System (PDS).

A) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

B) Both Assertion and Reason are true but Reason is NOT the correct explanation of Assertion.
C) Assertion is true but Reason is false.

D) Assertion is false but Reason is true.

E) Both Assertion and Reason are false

Q.7 Two statements are given below as Assertion (A) and Reason (R). Read the statement and choose the most
appropriate option.

Assertion (A): Seasonal unemployment is prevalent in agriculture.

Reason (R): Seasonal unemployment occurs because of the cyclical nature of farming activities.

A) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

B) Both Assertion and Reason are true but Reason is NOT the correct explanation of Assertion.




C) Assertion is true but Reason is false.
D) Assertion is false but Reason is true.

E) Both Assertion and Reason are false

Q.8 Explain what is gross enrollment ratio?

Q.9. Name the group of people who are more prone to food insecurity? Explain.

Q.10. What are the possible reasons for a country to be poor?

Q.11. Explain any three disadvantages of unemployment?

Q.12. Describe the three dimensions of food security?

Q.13. What are the problems of the functioning of ration shops?

Q.14. Give an account of interstate disparities of poverty in India.

Q.15. Describe briefly some of the poverty alleviation programmes initiated by the Central Government?

Q.16. Discuss any two schemes launched by the state that aims at providing food security to poor people.

Q.17. What are the various activities that are undertaken in the primary sector, secondary sector, and tertiary
sector?

Q.18. Production can be carried out with the judicious development in the human resources by making
investments in
(education/shelter)and health.

Q.19. Greater knowledge in the form of improved production technologies can rapidly increase the
(productivity/

consumption).

Q.20. The energy of the nutritional level of food is expressed in the form of (Calories per
day/Milk per day).




Q.21 is thus defined as a situation of lack of income to acquire minimum necessities of life.

Q.22. People living in economically backward states with a high incidence of poverty, tribal and remote areas,
regions more prone to (Food
insecurity/exploitation).

Q.23. Swarnajayanti Gram Swarojgar Yozana scheme was launched to create self-employment
opportunities for the educated unemployed. True/False

Q.24. A family involved in farming is said to be in full employment. True/False

Q.25. White Revolution in India was associated with Paper. True/False




SUBJECT : GEOGRAPHY
CHAPTER :POPULATION

1. What is census?

A) A process of collecting and analyzing data about a country's wildlife

B) A survey conducted to count and collect demographic information about a population
C) A method to measure the GDP of a country

D) A study of geographical features of a region

2. As per the 2024 Census, which of the following states of India is most densely populated?
A) West Bengal B) Kerala  C) Uttar Pradesh D) Bihar

3. An indicator of Socio-Economic development in a country is
a) Literacy b) Wealth c) Sex composition  d) None of these

4. Which state in India has the highest literacy rate as of 2024?
A) Tamil Nadu B) Goa C) Kerala D) Himachal Pradesh

5. What is the term for the movement of people within a country’s borders?
a) Emigration b) Immigration  c) Internal migration
d) International migration

6. What is the term for the number of years it takes a population to double in size at the current growth
rate?
a) Doubling time  b) Life expectancy  c) Replacement level d) Demographic transition

7. The age, sex, education level, and ethnicity of a population are examples of:
a) Population density b) Population distribution
c) Population composition d) Population growth

8. Which of the following is NOT a factor that influences population distribution?
a) Climate  b) Landforms  c) Economic development d) Time zones




9. Study the map:

INDIA

B Above 1001
=g 801-1000
1 601-800
HEH 401-600
23 201-400
Less than 20

. Answer the following questions:-
(i) Name any two states having the density of population from 801 to 1000 persons per sq km.
(i))Name any states which have population density from 401 to 600 persons per sq km.

10. Study the data given below carefully in the table and answer the following questions, (AH Indio 2008)
Decadal Growth Rate in India, 1901-2001

Census Year Total Population Growth Rate

Absolute Number Percent of Growth

1901 238396327

1911 252093390 (+) 13697063 (+J5.75




1921 251321213 (-) 772117 (-) 0.31

1931 278977238 (+)27656025 (+) 11.60
1941 318660580 (+)39683342 (+) 14.22
1951 361088090 (+)42420485 (+) 13.31
1961 439234771 (+)77682873 (+)21.51
1971 548159652 (+)108924881 (+) 24.80
1981 683329097 (+)135169445 (+) 24.66
1991 846302688 (+) 162973591 (+) 23.85
2001 1028610328 (+)182307640 (+) 21.54

Answer the following questions:

i) Which decade shows minus growth rate? What is the main reason for the decline in the population of this
decade?

(if) Which decades are referred to as the period of steady population growth? Give one reason for it.

(iii) Why has the population growth declined in the last two decades?

THREE MARK QUESTIONS

1. Population is the pivotal element in social studies. Support your answer giving three points
2. ‘Despite the decline trend of the growth rate, the population of India is increasing at a faster
rate’.Explain

3. What is migration? Explain the two types of migration.

4. What are the Pulland Push factors that influence rural urban migration in India?

5. What are the problems associated with the adolescents in India?

6. Explain the factors influencing the distribution of population in India.

FIVE MARK QUESTIONS

1. What is population change? Discuss the factors influencing population change.
2. Evaluate the role of NPP 2000 in the life of adolescents.




Map Work :

i) The state having highest density of population.
i) The state having lowest density of population.
iii) The state having highest sex ratio.

iv) The state having lowest sex ratio.

V) The most populous state of India.

Vi) The most sparsely populated state of India.




SUBJECT- ARTIFICIAL INTELLIGENCE
TOPIC: CREATING A QUIZ BOT USING ZAPIER

Step 1: Open https://zapier.com. You
will get the screen shown below:
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Step 3: Click on the orange ‘+’ button
on the left to create.
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Step 4: Click on Chatbots



https://zapier.com/

Step 5: On the new screen, click on
‘Build your First Chatbot’ Button as
shown below:
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Step 6: Give a name to your bot first
and click on Create Button.

Create a new Chatbot

Remember, its your first bot and the
free trial is for 14 days. Read the
instructions and click on ‘Start
Building’.

Your free 14-day trial of ] .
Chatbots Advanced starts now <’ x %

Build
funct
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Step 7: You can see your bot on screen
now.

Wstructions  Knowiedge  Logic  Style  Intsgrations QD) C

Chatbot Instructions
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Step 8: List all the instructions and
directives for your quizbot here, like you
want the quiz bot to track scoring,
mention scoring rules, types of questions
etc.
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Chatbot Instructions
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# Objective: You are an exceptional customer support representative. i

Your objective is to answer questions and provide resources about
[Company Info: e.g., name and brief description of business or project].
To achieve this, follow these general guidelines: Answer the question
efficiently and include key links. If a question is not clear, ask follow-up
questions.
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Step 9: Click on Knowledge and Add the
link of Class IX Science NCERT book
link.

Click on continue once done.

Add knowledge source

Processing knowledge sources...

@ ncert.nic.in/textbook.php?iesc1=0-12

Step 10: You can also add the pdf of the
book.

Add knowladge source

wres 0 16 days

Step 11: Style your bot by clicking on
Style tab.

Instructions ~ Knowledge  Logic  Style  Integrations ()  Conversatif

Personality
Avatar

Favicon

Use Avatar As Favicon

Embed Logo and Icon

Upgrade to customize

Add your logo to the pop-up chatbot, and customize
the icon and other style settings.




Choose image -> Choose Local file -> Scan the QR code to get the video
Browse and upload tutorial of making a chatbot using
Zapier.

. © Restart Chat
Personality

-~ /
¢ scibot.png (-]

Favicon

Usa Avatar As Favicon

Embed Logo and Icon
o Upgrade to customize | Ungrace |
Add your logo to the pop-up chathot, and customize

the Icon and other style settings.

Your avatar will be uploaded.

Step 12: You can share your bot once
completed by clicking on the ‘Share’
Button on the right.

Prepared by Asha Rajan

Share "Scibot"

Access

Anyone with the link can view &)
Public URL

https://scibot-5a2247.zapier.app [j'\

Share this URL with those you want to use your chatbot. To use to a custom domain
or restrict access with a password, add this chatbot to an Interface (requires an

Interfaces pro plan)

</> Embed |2 Add to Interfaces

Copy the Link and paste while you fill
the form latest by 5 Jan 2024. You will
have to show your bot in the Al classes.




SUBJECT :FMM

What is a bank , What is Income and Why Save

Case-Based Studies
Case Study 1: Savings and Future Goals
Ravi is a young professional earning 325,000 per month. After covering his expenses, he saves
35,000 monthly in a savings account. He plans to save enough to purchase a bike costing
%80,000 within 18 months.

1. How much will Ravi save in 18 months if he continues his current savings pattern?

2. Why is saving important for achieving goals like Ravi's?
Case Study 2: Role of Banks
Meena owns a small tailoring business. She deposited X1,00,000 in her savings account. Later,
she took a loan of *50,000 from the same bank to buy a new sewing machine to expand her
business.

1. How did the bank help Meena achieve her business goals?

2. Explain the importance of banks in providing loans for small entrepreneurs.

Long Questions

1. Explain the functions of a bank. How do banks contribute to the economic
development of a country?

2. Discuss the various sources of income for an individual. How does income influence
saving habits?

3. Why is saving important for both individuals and the economy? Discuss with
suitable examples.

4. What are the key differences between a savings account and a fixed deposit
account? Which one would you recommend for long-term saving, and why?

5. Describe the relationship between income, expenses, and savings. How can effective
financial planning help individuals achieve their financial goals?

Assertions:

1. Assertion 1: A business with a high current ratio is considered financially stable.
Reasoning: The current ratio measures a company’s ability to pay off short-term
liabilities with its short-term assets.

2. Assertion 2: A company should opt for debt financing only when the interest rate on
loans is lower than the expected return on investment.

Reasoning: If the expected return is higher than the cost of debt, the company can benefit
from leveraging borrowed funds.




3.

Assertion 3: Increasing the equity base of a company may dilute the control of existing
shareholders.

Reasoning: Issuing new equity means that the ownership is shared with new investors,
which may reduce the voting power of existing shareholders.

Assertion 4: The price of shares of a company is primarily determined by its profitability
and future growth potential.

Reasoning: The market value of a company’s shares reflects the anticipated earnings and
financial performance of the company.

Assertion 5: Capital budgeting is an essential tool for businesses to assess the
profitability of long-term investments.

Reasoning: Capital budgeting involves evaluating the potential returns and risks
associated with long-term investments to make informed decisions.

Long Answer Questions:

1.

Long Answer 1:

Explain the concept of financial management and discuss its significance in a business
organization.

How do financial decisions affect the overall performance and stability of a company?
Long Answer 2:

Describe the different methods of calculating capital structure and explain their
significance.

What are the factors that determine the optimal capital structure for a business?

Long Answer 3:

Discuss the various sources of finance available to a business.

Explain the advantages and disadvantages of each source with examples.

Long Answer 4:

Define the concept of working capital management.

Explain the importance of maintaining an optimal level of working capital for the smooth
functioning of a business.

Long Answer 5:

Discuss the role of financial analysis in decision-making.

Explain how financial ratios like liquidity ratios, profitability ratios, and solvency ratios
help in evaluating a company’s financial health.




SUBJECT: IT
TOPIC: LIBRE OFFICE IMPRESS

Create a visually engaging digital storyboard to narrate a story, explain a concept, or showcase a
project idea.
Select a topic of your interest (e.g., "A Journey to Space,” "The Life Cycle of a Butterfly," or
"Innovative Inventions™).:
Use to create 8-10 slides.
Add relevant images, animations, and transitions to make the slides engaging.
Slide 1: Title and Introduction.
Slides 2—7: Key points with visuals and brief descriptions.
Slide 8: Summary and Conclusion.
Experiment with background colors, font styles, and layout designs.
Use the drawing tools to create shapes or diagrams.
Insert a clickable button or hyperlink to additional resources, such as videos or articles.:
Save your presentation as a .pptx or .pdf file.
e Share it in the designated space on your classroom platform.
- Include a quiz slide at the end using multiple-choice or true/false questions to engage your
audience further.




